STEERING & SUSPENSION PARTS

Ajuo sasodind uolrewuIoUl 10§ PAsN B1E JUSWIND0P SIY3 Ul papn|oul elep pue siaquwinu yied ‘suondussep jonpoid ||y
1pI|dBWE 16]1q 929PES 19|119A dA IiB|BIEWINU BB ‘liejewie]yide unin wny Iepuewnyop ng X

SINALI M3N




(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. AF-412

Steering Tie Rod End Aluminium

&
N
e ¢

(£)

wd

Weight: 0415 Length: 1092  Bolt Metric: M12X1,75  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
STELVIO 2016- Front
TEKNOROT REF: CI-666
Suspension Stabilizer Bar Link
@
Weight: 0528  Length: 355  Bolt Metric: M12X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
SPACETOURER 2016- Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR AL FA ROMEQ

OEMNO

/7366151

ADAPTABLEFOR CITROEN

OEMNO

9608090180



{5 T&NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CI-666 ADAPTABLEFOR PEUGEOT
Suspension Stabilizer Bar Link

H
.

Weight: 0528  Length: 355  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPERT Vv 2016- Front 8609090160
TEKNOROT REF: F-1004 ADAPTABLEFOR [VEGO
Suspension Ball Joint

Weight: 0574  Length: 956  Bolt Metric: M18X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

DAILY Y% 2014- Front Lower 5801564316*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: F-1005 ADAPTABLEFOR [VECO
Suspension Ball Joint

Weight: 0506 Length: 996  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DAILY % 2014- Front Upper 5801564293*
TEKNOROT REF: F-1016 ADAPTABLEFOR FIAT

Suspension Stabilizer Bar Link

L7

Weight: 0324  Length: 220  Bolt Metric: M10X125

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

IDEA 2003-2012 Front Right 51739696

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: F-1017 ADAPTABLEFOR FIAT
Suspension Stabilizer Bar Link

&
ii,
s

Weight: 0324  Length: 220  Bolt Metric: M10X1,25

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
IDEA 2003-2012 Front Left 51739697
TEKNOROT REF. LA-256 ADAPTABLEFOR | AND ROVER

Suspension Stabilizer Bar Link

-
-
§’

&

Weight: 0305 Length: 160  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

DISCOVERY SPORT L550 2015- Rear Right LROB1271

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. LA-257
Suspension Stabilizer Bar Link

@

Weight: 0305 Length: 160  Bolt Metric: M10X1,5
MODEL NO BODY CODE
DISCOVERY SPORT L550

TEKNOROT REF. LA-261
Steering Tie Rod End

Weight: 4345 Length: O  Bolt Metric: M12X1,25

MODEL NO BODY CODE

RANGE ROVER

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2015-

YEAR

1994- 2002

ADAPTABLEFOR | AN ROVER

DIRECTIONS

Rear Left

OEMNO

LROB1272

ADAPTABLEFOR | AN ROVER

DIRECTIONS

Front Outer

OEMNO

1100000207, ANR3826%, QFSO00060,

STC1870



&} e Eﬁw(f;mgﬁg Ant

TEKNOROT KEF. LA-262
Steering Center Link

Weight: 4744  Length: 1340  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS
RANGE ROVER 1994- 2002 Front Center
COMPONENTS NUMBER NAME DIRECTIONS
LA-261 Steering e RO | ont Outer
End
i LA-11]1 Tie Rod End Front
TEKNOROT REF: M-1028
Suspension Control Arm and
Ball Joint Assembly
Weight: 3967  Length: 475
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
X-CLASS w470 2017 Lower
COMPONENTS NUMBER NAME DIRECTIONS
' M-1014 Ball Joint Front Lower
SB1373

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR | AN ROVER

OEMNO

TIQ0000Z20, ANR3826

OEMNO

TIQ000020%* ANR3826%, QFSO0006C,

STC1870

QFS000010, QFS100060, STC1871

ADAPTABLEFOR MIERGEDES

OEMNO

4703300700

OEMNO

4703300700% 4703301000*



TEKNOROT REF: M-10281 ADAPTABLEFOR MERCEDES

Suspension Control Arm and
Ball Joint Assembly

Weight: 2756  Length: 335  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
3 . Front Right
X-CLASS w470 2017 Lo 4703301300
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
ey
a M-1004 Ball Joint Front Upper 4703301300 4703301500*
SB 722
TEKNOROT REF: M-1029 ADAPTABLEFOR MERCEDES
Suspension Control Arm and
Ball Joint Assembly

Weight: 3967  Length: 475

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
X-CLASS w470 2017- Front Left Lower 4703301000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
' M-1014 Ball Joint Front Lower 4703300700% 4703301000*
SB1373

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



g4 ) TNOROT

TEKNOROT REF: M-10291 ADAPTABLEFOR MERCEDES

Suspension Control Arm and
Ball Joint Assembly

Weight: 2756  Length: 335  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
X-CLASS W470 2017- Front Left Upper 4703301500
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e
a M-1004 Ball Joint Front Upper 4703301300 4703301500*
SB 722
TEKNOROT REF: M-746 ADAPTABLEFOR MERCEDES
Lateral Arm

-

Weight: 0629  Length: 257  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
C-CLASS w203 2000-2007 Pearward 2033500753, 2033500353

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TXNOROT

|
/\’ STEERING 6§ SUSPENSION PARTS MarCh

TEKNOROT REF: M-746K ADAPTABLEFOR MERCEDES

Suspension Control Arm and with accessories
Ball Joint Assembly

Weight: 0,743  Length: 257  Bolt Metric: M10X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C-CLASS W203 2000-2007  Rear Rearward 2033500758, 2033500358

TEKNOROT REF: SB 1374 ADAPTABLE FOR AUIDI
Lateral Arm Bushing

& P
o Al
‘&
Va

g

Weight: 0122  Length: 424

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
A4 B9 2015- Rear Lower 8W05015300%* 8W05015290*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
—ly A-10282 Lateral Arm | Rear Right Lower 8W05015300
———— A-10292 Lateral Arm Rear Left Lower 8W050152390

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1374
Lateral Arm Bushing

;:—"x?:

o)
& p
O Al
&

Weight: 0122  Length: 424
MODEL NO BODY CODE YEAR
A5 F53-F57 2016-
COMPONENTS NUMBER NAME
— =l A-10282 Lateral Arm
T—— A-10292 Lateral Arm
TEKNOROT REF: 8B 1375
Lateral Arm Bushing
@
Weight: 0115 Length: 46
MODEL NO BODY CODE YEAR
A4 B9 2015-
COMPONENTS NUMBER NAME
~ A-10182 Lateral Arm
D™ A-10192 Lateral Arm

ADAPTABLEFOR ALJDI

DIRECTIONS

Rear Lower

DIRECTIONS

Rear Right Lower

Rear Left Lower

DIRECTIONS

Rear Upper
Rearward

DIRECTIONS

Rear Right Upper
Rearward

Rear Left Upper
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

8W05015300%, 6W05015290%

OEMNO

8W05015300

8W05015290

ADAPTABLEFOR ALJDI

OEMNO

8WO505398F*, 8W0O505398C%,
8WO505397F~, 8W0b05337C*

OEMNO

8W0505596F, 8W0505398C

8W0505397F, 8W0505597C

NS



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1375
Lateral Arm Bushing

Weight: 0115 Length: 46

MODEL NO BODY CODE YEAR DIRECTIONS
COMPONENTS NUMBER NAME DIRECTIONS

T A-10182 Lateral arm | Fo RO Uoper

D A-10192 Lateral Arm Re«ggffﬁé/[%per

TEKNOROT REF: H-1011
Steering Tie Rod End

b o

Weight: 0312  Length: 668  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

2005-2009 Front

FR-V

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR ALJDI

OEMNO

8W0O505398F*, 8W0505398C*,
8W0505397F%, BW0505397C*

OEMNO

8WUO505396F, 8BW05053960C

8WO5055397F, 8BW0505397C

ADAPTABLEFOR HIONIDA

OEMNO

535415JF013



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: HY-1007
Suspension Stabilizer Bar Link

e, |

-

Weight: 0415 Length: 295  Bolt Metric. M12X1,25

MODEL NO BODY CODE VEAR
HONA 0s 2017-
TEKNOROT REF. IN-116

Suspension Stabilizer Bar Link

Weight: 03685 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR

q70 1stGen 2014-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

2020 March

ADAPTABLEFOR HYUNDA/

DIRECTIONS

Front

AWD

DIRECTIONS

Front Right

OEMNO

54830J9000, 54850F2000

ADAPTABLEFOR INEINITT

OEMNO

54618EGOZC, 54618EGO01



4 ; TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: IN-116 ADAPTABLEFOR INIFINITT
Suspension Stabilizer Bar Link AWD

Weight: 0385 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
060 2014- Front Right 54618EGO20, 54618EGO01
TEKNOROT REF: IN-116 ADAPTABLEFOR INIFINITY
Suspension Stabilizer Bar Link AWD '
S YEAR ONLY
‘ 2009-2013
=
=
Weight: 03685 Length: 65  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
G37 2009- Front Right 54618EGOZC, 54618EGOO1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT KEF: IN-116

Suspension Stabilizer Bar Link
>

==
1,
g

e

%
@
Weight: 0385 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE

050 1stGen

TEKNOROT REF: IN-117

Suspension Stabilizer Bar Link

@.
-

=N

@
Weight: 03685 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE

070 1stGen

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2014-

YEAR

2014-

2020 March

ADAPTABLEFOR INFINITT
AWD o
DIRECTIONS OEM NO
Front Right 54618EGO2C, 54618EGO0O1
ADAPTABLEFOR INFINITT
AWD
DIRECTIONS OEM NO
Front Left H4668EGO20, 54668FEGO01



4 ; TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. IN-117

Suspension Stabilizer Bar Link

&
-

/

o)

Weight: 0385 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE

060

TEKNOROT REF: IN-117

Suspension Stabilizer Bar Link
&

~
-

SN
@

Weight: 03685 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE

G37

YEAR

2014-

YEAR

2009-

AWD

ADAPTABLEFOR INFINITT

DIRECTIONS

Front Left

AWD

YEAR ONLY
2009-2013

DIRECTIONS

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

54666EGO2C, 54666EGO01

ADAPTABLEFOR INEINITT

54668EGOZ0, 54668E6G001



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF. IN-117

Suspension Stabilizer Bar Link AWD
@
ﬁi{ J
{’\

Weight: 0385 Length: 65  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

050 1stGen 2014- Front Left

TEKNOROT REF: HI-608

Suspension Control Arm and
Ball Joint Assembly

Weight: 4665  Length: 331  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
BONGO 2006 G
COMPONENTS NUMBER NAME DIRECTIONS
P )
‘ K14 | SuspENSONBal L oo over
Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR INFINITT

OEMNO

54666EGO2C, 54666EGO01

ADAPTABLEFOR HA

OEMNO

54540-4E000

OEMNO

545404E0007, 545414E000*



STEERING &8 SUSPENSION PARTS

(\ TXNOROT

TEKNOROT REF: KI-609

Suspension Control Arm and
Ball Joint Assembly

Weight: 4665 Length: 331  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS
BONGO 2006- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
= Suspension Ball
‘ KI-614 P o Front Lower
oint

TEKNOROT REF: KI-613
Steering Tie Rod YEAR ONLY

2010-2011

=N ——)

Weight: 064  Length: 260  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

SOUL AM 20089-2014 Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR HA

OEMNO

54541-4E000

OEMNO

545404E0007, 545414E000*

ADAPTABLEFOR HA

OEMNO

5775562K000



/
k} i Eﬁgﬂgﬁg I

TEKNOROT REF: N-1005
Suspension Ball Joint

>

Weight: 0267  Length: 70

MODEL NO BODY CODE

SENTRA

TEKNOROT REF: N-1005
Suspension Ball Joint

=

Weight: 0267  Length: 70

MODEL NO BODY CODE

NV200

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2013-

YEAR

2013-

DIRECTIONS

Front Lower

ADAPTABLEFOR NIISSAN

OEMNO

545005AMIA*, 545019AMIA™

ADAPTABLEFOR NISSAN

DIRECTIONS

Front Lower

OEMNO

545009AMIA%, 545019AMIA*



{5 T=NOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: N-1051 ADAPTABLEFOR MISSAN
Steering Tie Rod End

—B

="

Weight: 0675 Length: 95  Bolt Metric: M16X1,5  Housing Metric: M168X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
TITAN 2016- Front Outer 486301PA0A*
TEKNOROT REF: N-1051 ADAPTABLEFOR MISSAN
Steering Tie Rod End
.,__&%_

Weight: 0675 Length: 35  Bolt Metric: M16X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TITAN 2016- Front Outer 486301PA0A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: N-1051 ADAPTABLEFOR MISSAN
Steering Tie Rod End

— jﬁ_

aﬁ- Z

Weight: 0675 Length: 95  Bolt Metric: M16X1,5  Housing Metric: M168X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
NV-SERIES 2012- Front Outer 486301PA0A*
TEKNOROT REF: N-1051 ADAPTABLEFOR MISSAN
Steering Tie Rod End
,%,

Weight: 0675 Length: 35  Bolt Metric: M16X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

NV-SERIES 2012- Front Outer 486301PA0A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\/\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1274
control Arm Bushing

Weight: 043  Length: 60

MODEL NO BODY CODE
CH-R 1stGen
COMPONENTS NUMBER
r«-&
T-10181
Z
‘ T-10191
? T-10181S
‘ T-101915

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2016-

NAME

Control Arm &
Ball Joint Assy

Control Arm &
Ball Joint Assy

Control Arm

Control Arm

120 March

ADAPTABLEFOR TQYOTA

DIRECTIONS

Front Outer

DIRECTIONS

Front Right

Front Left

Front Right

Front Left

48068F4010%, 46069F4010*

OEMNO

48068F4010

48069F4010

48068F4010*

480689F4010*



7
W ENOROT

TEKNOROT REF: 8B 1275
control Arm Bushing

Weight: 0234  Length: 656
MODEL NO BODY CODE
CH-R 1stGen
COMPONENTS NUMBER
&
? T-10161
@
‘ T-10191
? T-10181S
‘ 1-10191S

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2016-

NAME

Control Arm &
Ball Joint Assy

Control Arm &
Ball Joint Assy

Control Arm

Control Arm

120 March

ADAPTABLEFOR TQYOTA

DIRECTIONS

Front Inner

DIRECTIONS

Front Right

Front Left

Front Right

Front Left

48068F4010%, 48069F4010*

OEMNO

48068F4010

48069F4010

48068F4010*

480689F4010*



STEERING &8 SUSPENSION PARTS

(\ TXNOROT

TEKNOROT REF: T-10182
Lateral Arm

e e

Weight: 2776  Length: 6605

MODEL NO BODY CODE

LAND CRUISER J120

TEKNOROT REF: T-10182
Lateral Arm

e e

Weight: 2776  Length: 6605

MODEL NO BODY CODE

4RUNNER

YEAR

2003-2010

YEAR

2003-2009

DIRECTIONS

Rear Upper

DIRECTIONS

Rear Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR TQYOTA

OEMNO

4872035061, 4872035060

ADAPTABLEFOR TQYOTA

OEMNO

4872035061, 4872035060



\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF.: T-10182 ADAPTABLEFOR TOYOTA
Lateral Arm

e e

Weight: 2776  Length: 6605

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

4RUNNER 2010- Rear Upper 4872035061, 4872035060
TEKNOROT REF: T-1023 ADAPTABLEFOR TOYOTA
Steering Tie Rod

-.:bmf.

Weight: 0689  Length: 266  Bolt Metric: M16X1,5  Housing Metric: M24X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

4RUNNER 2009- Front Inner 4550335070

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: T-1023 ADAPTABLEFOR TOYOTA
Steering Tie Rod

e_'km'

Weight: 069 Length: 266  Bolt Metric: M16X1,5  Housing Metric: M24X1.5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FJCRUISER 2010-2014 Front Inner 4550335070
TEKNOROT REF: T-833 ADAPTABLEFOR TOYOTA
Steering Tie Rod

Weight: 1464  Length: 233  Bolt Metric: M22X1,5  Housing Metric: M30X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SEQUOIA 2nd Gen 2008- Front 4550300030

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-833 ADAPTABLEFOR TOYOTA
Steering Tie Rod

Weight: 1464  Length: 233  Bolt Metric. M22X15  Housing Metric: M30X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
TUNDRA 2nd Gen 2007- Front 4550300030
TEKNOROT REF. CD-193 ADAPTABLEFOR CADILLAC
Steering Tie Rod

-ﬂ

Weight: 052  Length: 262  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CTS 1stGen 2003-2007 Front 89060189

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
1\} i Eﬁgﬂgﬁg I

TEKNOROT REF. CH-1017 ADAPTABLEFOR GMIC'
Suspension Stabilizer Bar Link

Weight: 0396  Length: 260  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NGO
ACADIA 2nd Gen 2017- Front 84108681
TEKNOROT REF: CH-1017 ADAPTABLEFOR BLIICK

Suspension Stabilizer Bar Link

e

Weight: 0396  Length: 280  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ENCLAVE 2nd Gen 2018- Front 84108681

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. CH-1017
Suspension Stabilizer Bar Link

Weight: 0396  Length: 260  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR

XT5 2017-

TEKNOROT REF. CH-1017
Suspension Stabilizer Bar Link

|

Weight: 0396  Length: 280  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR

TRAVERSE 2018-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR CADILLAC

DIRECTIONS

Front

OEMNO

84108681

ADAPTABLEFOR CHEVROLET

DIRECTIONS

Front

OEMNO

84108681



A TXNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. DO-352 ADAPTABLEFOR JODGE

Steering Tie Rod End TIE ROD END AT PITMAN
ARM

Weight: 1279  Length: 1261  Bolt Metric: M16X1,5  Housing Metric.: 1-6 16UN-2A

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RAM 4500 2009-2010 Front Outer 68045420AA
TEKNOROT REF.: DO-352 ADAPTABLEFOR JODGE
Steering Tie Rod End TIE ROD END AT PITMAN
ARM

Weight: 1279 Length: 1261  Bolt Metric: M1I6X1,5  Housing Metric.: 1-6 16UN-2A

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 5500 2009-2010 Front Outer 68045420AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
K)\ i ng(f;ﬂgﬁg I

TEKNOROT REF: DO-352
Steering Tie Rod End TIE ROD END AT PITMAN
ARM
YEAR ONLY
2011-2012

Weight: 1279  Length: 1261  Bolt Metric: M16X1,5  Housing Metric.: 1-6 16UN-2A

MODEL NO BODY CODE YEAR DIRECTIONS
4500 2011-2018 Front Outer
TEKNOROT REF. DO-352
Steering Tie Rod End TIE ROD END AT PITMAN
ARM
YEAR ONLY
2011-2012

Weight: 1279 Length: 1261  Bolt Metric: M16X1,5  Housing Metric.: 1-6 16UN-2A

MODEL NO BODY CODE YEAR

5500 2011-2018

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

Front Outer

ADAPTABLEFOR RAM

OEMNO

68045420AA

ADAPTABLEFOR RAM

OEMNO

668045420AA



y
{5 TXNOROT

020 March

TEKNOROT REF: DO-374 s ror DODGE
Suspension Ball Joint 4x2
” YEAR ONLY
2000-2001
“ foﬂ ;
Weight: 0545 Length: 95  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RAM 1500 2nd Gen 1994-2001 Front Upper RKBE21854* 52106678AA*
TEKNOROT REF: DO-374 ADAPTABLEFOR [JODGE
Suspension Ball Joint 4x2
YEAR ONLY
2000-2002
{ {&e" ! Q
Weight: 0545  Length: 35  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RAM 2500 2nd Gen 1994-2001 Front Upper RKB21854* 52106678AA*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TSNOROT

A
k J STEERING &8 SUSPENSION PARTS

TEKNOROT REF: DO-374 ADAPTABLEFOR DODGE
Suspension Ball Joint 4x2
g YEAR ONLY
2000-2002

s M

—

Weight: 0545  Length: 95  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RAM 3500 1994-2001 Front Upper RK621854* 52106678AA*
TEKNOROT REF: FO-1068 ADAPTABLEFOR ORI
Suspension Control Arm and

Ball Joint Assembly

Weight: 8785 Length: 612  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Right
EXPLORER 4th Gen 2006-2010 Lower RKB0O720. 6L273078AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
=
i FO-1065 Ball Joint Front Lower 7L273050A, 7L5Z3050A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=XNOROT

TEKNOROT REF: FO-1069 ADAPTABLEFOR FORD

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 8785 Length: 612  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
EXPLORER 4th Gen 2006-2010  Front Left Lower RKB0721, 6L273079AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
=
‘ FO-1065 Ball Joint Front Lower 7L273050A, 7L.573050A
TEKNOROT REF: FO-1186 ADAPTABLEFOR ORI
Suspension

B e ek A

Weight: 0304  Length: 155  Bolt Metric: 3/8-16 UNC

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXPLORER 3rd Gen 2002-2005 Rear K80033

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(\ TNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: FO-1186 ADAPTABLEFOR [ INCOLN
Suspension Stabilizer Bar Link Independent Rear
Suspension

- o

Weight: 0304  Length: 155  Bolt Metric: 3/8-16 UNC

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
AVIATOR 2002-2005 Rear K80033
TEKNOROT REF: FO-1186 ADAPTABLEFOR MERCURY
Suspension

e [ U B

Weight: 0304  Length: 155  Bolt Metric: 3/8-16 UNC

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MOUNTAINEER 2002-2005 Rear KB0033

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: JE-3381 ADAPTABLEFOR JODGE
Lateral Arm

T

Weight: 1512  Length: 316

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CALIBER 2007-2015 Rear Upper  5105271AC, 5105271AA, 5105271AB
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
@
< SB 1094 tontrol Arm Rear Upper 5105271AC*
L5 Bushing
TEKNOROT REF: JE-3381 ADAPTABLEFOR _JEEP
Lateral Arm

7Ny

Weight: 1512  Length: 316

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COMPASS MK49 2006-2015  RearUpper  5105271AC, 510527144 510527148
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
L)
< SB 1094 Lontrol Arm Rear Upper 5105271AC*
& Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeCNOROT

/\) STEERING &8 SUSPENSION PARTS

TEKNOROT REF: JE-3381 ADAPTABLEFOR _JEEP
Lateral Arm

T

Weight: 1512  Length: 316

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PATRIOT 2007-2015 Rear Upper  5105271AC, 5105271AA, 5105271AB
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
@
< SB 1094 tontrol Arm Rear Upper 5105271AC*
& Bushing
TEKNOROT REF: JE-358 ADAPTABLEFOR _JEEP
Suspension Control Arm and
Ball Joint Assembly

Weight: 4039  Length: 370

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
COMPASS 2017 o 6631801040
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘ Jegsq | SHSPEnsOnBal | gt pwer 68318010AD", 68316011A0*
s i Joint
SB 938
5998

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/
k} i Eﬁgﬂgﬁg I

TEKNOROT REF: JE-359 ADAPTABLEFOR _JEEP

Suspension Control Arm and
Ball Joint Assembly

Weight: 40399  Length: 370

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
COMPASS 2017- Front Left Lower 68318010AD
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
8 Je-g5a | SUSPENSONBal g oy ower 68316010A0* 6831601140
e Joint
SB 938
SB998
TEKNOROT REF: JE-364 ADAPTABLEFOR [JODGE
Suspension Ball Joint

Weight: 0235  Length: 49,7

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Rear Upper 5105271AC, 5105271AA%,
CALIBER 2007-2015 Forward 5105271AB*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
A JE-3381 Lateral Arm Rear Upper 5105271AC. 5105271AA, 5105271AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: JE-364
Suspension Ball Joint

Weight: 0235  Length: 497
MODEL NO BODY CODE YEAR DIRECTIONS
. Rear Upper
COMPASS MK439 2006-2015 Forward
COMPONENTS NUMBER NAME DIRECTIONS
A JE-3361 Lateral Arm Rear Upper
TEKNOROT REF: JE-364
Suspension Ball Joint
Weight: 0235 Length: 49.7
MODEL NO BODY CODE YEAR DIRECTIONS
PATRIOT 2007-2015  "eArUpPer
Forward
COMPONENTS NUMBER NAME DIRECTIONS
A JE-3381 Lateral Arm Rear Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR _JEEP

OEMNO

5105271AC% 5106271AA%,
5106271AB*

OEMNO

5105271AC, 5105271AA, 5105271AB

ADAPTABLEFOR _JEEP

OEMNO

5105271AC 51056271AA%,
5105271AB*

OEMNO

5105271AC, 5105271AA, 5105271AB



TEKNOROT REF: N-1005 ADAPTABLEFOR CHEVROLET

Suspension Ball Joint

=

g

Weight: 0267  Length: 70

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CITY EXPRESS 2015- Front Lower 545009AMIA%, 545019AMIA*
TEKNOROT REF: B 1306 ADAPTABLEFOR TESLA
Control Arm Bushing

Weight: 0249  Length: 62

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MODEL § 2012-2016 Front Upper 104396600A%, 104396500A*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
suspension .
?ﬁ, 751008 | controlamang | 0RO 1043966004
- Ball Joint hb
Ssuspension
\ 75-1009 Control Arm and | Front Left Upper 1043965004
= Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\} i Eﬁgﬂgﬁg I

TEKNOROT REF: 8B 1306 ADAPTABLEFOR TESILA
control Arm Bushing

Weight: 0249  Length: 62

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
MODEL § 2012-2016 Front Upper 104396600A%* 104396500A*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
suspension ,
y 751008 | ControlAarmand | OL’;[ RE’);C_]” ! 1043966004
. Ball Joint PP
suspension
T5-1009 Control Arm and | Front Left Upper 104396500A
‘ % Ball Joint
TEKNOROT REF: §B 1371 ADAPTABLEFOR [JODGE

Ccontrol Arm Bushing - -

Weight: 018 Length: 76

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DAKOTA 2nd Gen 2000-2004 Front Outer 52106396AA% 52106397AA*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

po-og | COMOIATMAENG | o) o) ower 5210639744
Ball Joint Assy

00-268 Control Arm and | Front Right 5210639644
Ball Joint Assy Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF. SB 1371 ADAPTABLEFOR DODGE
Control Arm Bushing —— ~ ,

Weight: 018 Length: 76

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
DURANGO 1stGen 1998-2003 Front Outer 52106596AA%, 52106597AA*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
} 00-268 Control Arm and | Front Right 521063964
Ball Joint Assy Lower
{ po-26g  COMUOIATMANG | o) ottt ower 5210639744
Ball Joint Assy

TEKNOROT REF: §B 1372 ADAPTABLEFOR [IODIGE
Control Arm Bushing -

Weight: 0141  Length: 76

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DAKOTA 2nd Gen 2000-2004 Front Inner 52106396AA%, 52106397AA*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
> oo.osg | ControlArmand | Front Right 0108596
Ball Joint Assy Lower
'( po-26g  COMTOIATAEND | o) ot ower 5210639744
Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/
\)\ TeCNOROT

STEERING &8 SUSPENSION PARTS

TEKNOROT REF: 8B 1372
control Arm Bushing

Weight: 0141 Length: 76
MODEL NO BODY CODE YEAR DIRECTIONS
DURANGO 1stGen 1998-2003 Front Inner
COMPONENTS NUMBER NAME DIRECTIONS
: ControlArmand | Front Right
} bu-266 Ball Joint Assy Lower
Control Arm and
{ D0-269 Ball Joint Assy Front Left Lower
TEKNOROT REF: TS-1016
Suspension Stabilizer Bar Link Aluminium
- C @&
(O3 )
- e
Weight: 0329  Length: 85
MODEL NO BODY CODE YEAR DIRECTIONS
MODEL § 2012- Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR DODGE

OEMNO

52106396AA%, 52106397AA%

OEMNO

52106396AA

52106397AA

ADAPTABLEFOR TESILA

OEMNO

6006895004





